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38.

39.

40.
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42,

The festival of lights (8

(A) Ganesh Chaturthi

(B) Diwall

(C) Dussehra

(D) Baisakhi
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q7. Probono: whi

o pnd
1 W come across in aw o

- LU0 ) 'S 1
order debate and news, It refers i

| o r ¢ ) st
(A) Legal service on frae Of COS:

(8) On Its own motion
() Feeling of having already lived
through

(D) Animpartid agviser to a court of law

In & particular case

The festival of L ord Rama conquerng

Ravan is called &s
(A) Pongal
(C) Balsakni

(B) Bishu

(D) Dussehra
Bhagavad Geeta has dialogues between
Lord Krishna and
(A) Karna

(C) Nakula

(B)
(D)

Surya
Anuna
The type of mifror ysed as shaving
mirrors is

(A) Convex mirror

(B) Concave mirror

(C) Cylindrical mirror

(D) Plano - conyex mirror

Which of the following diseases is caused
by Salmonella pacteria 7

(A) Cholera

(B) Japanese encephalitis

(C) Typhoid

(D) Hepatitis

/(D) None of thegg
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The first manifesto of Urdu poelry was

24.
written by
(A) Altaf Haal Hussain (B) Amir Khus©
(C) Umrao Jan (D) Allabaksh

25, II'EYE can he coded as 35, then 'OFF' can
be coded as
(A) 80 (B) 1
(C) 27 (D) 36

25. Banabhatta wroie
(A) Sur Sagar
(8) Bhagavad Geeta
(C) Geetha Ramayan
(D) Harshacharita

27. lf+'means’x, ' means '+, = means '+'
g =, then 16x2+4+7—-8=

and '+' mean

43
(C) 3 (D) None of these
28. Which of the following rivers. is not a right

bank tributary of Ganga river ?

(A) Chambal (B) Son

4, 34 F1eg R HELA 1AM ~t ‘.“

(C) Sindhu (D) Kaosi

28, Which of the following rightly stands for the
word ‘Ethics' ?
(A) Mqral principles that influence a
person's behaviour
(B) Gpncemed with the principles of
@ fight and wrong behavioyr
) The way in which one acts or

wnducts ones
others & especially towards

30. Two coin
S are tossed s oA
pProvabillty of getting ;‘;";i‘ylaneously. The

tg)) 1}/ ®) 00“8 head is
Q : © y

< ?) jr
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(A) SAEF ereft 49 (8) A ey olid |5
v 5
(C’ 3T St (D) 'ﬁ% (A) 200 e
(C) 320 cm?

o5 EYE #1752 35 B, T OFF 3
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(C) e THEY

LR e

Three cubes ot sic
1o end, The surlac

25.
S e a2. The turbans Wos
I 5 R Aﬁmmmt‘ Haryana is call
(A) 80 (8) (A) Peta
(€) 27 (D) 96 (C) Crown
26, TUNE q , et | 33, Asin Bhagava
: c have union witl
(A) FLET \3 6t ¢ () Karma
= (C)  Bhakli
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The Leglsiative Assembly of ”l“ym‘ 3
i passed the Haryana Municipal
(Amendment) Bill an

(A) 7" August 2014

(B) 28" Fabruary 2017
(C) 18" December 2015
(D) 31" March 20186

13. Select the correct pair from the

1. Salal hydroelectric -

ammu and
project

Kashmir
2. Parambikulam = Tamil Nadu
reservoir
(A) 1 only
(B) 2only

(C) Both 1 and2
(D) None of the ahove
14. Rewarl, Mahendragarh and Gurgaon are

rich in
(A) Tin
(B) Dolomite
(C) Slate
(D) Feldspar

15, Baking powder is a mixture of baking soda
and a mild edible acid such as
(A) Acetic acid

(B) Benzoic acid

(C) Hydrochloric acid

(D) Tartaric acid

- f()llowlng :

nmmummn.
12, wigmn % fafy gee 3 "f"lrrm

(avnas) fre m%_’n%

(A) 7 STE2 2014
(B) 286 Fratl 2017
(C) 19 framt 2015
(D) 31774 2016
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16, The i
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(A)
(B)
(C)

(0)

19. Whk
(A)

(B)
<)

(D)

20. Fux
follc
2.5
(A)
(C)

21. Ak

the
the

(C
22.

(o TP o

— L~~~

23,



{

IR 1w

7.

10.

11,

¢ consists of two diglis and

A numbe
addad o the

whase sum is 3, 11915
number, the digils et interchanged.

Then the number is

(A) 12 (8) 21

(C) 30 (D) None of these
e s anamphoteriC oxide,
(A) ALO, (B) CuO

(C) FeO, (D) CrO,

Read the foliowing statements regarding

Sahara desert.
It is sprawled over ning countries
w0 times

}
i, Ilts area is more than tw
larger than whole India.

Select the right answer from given below

(A) (i) only

(B) ' (ii) only

(C) Both (i) and (i) are right
(D) None of the above

Bhagavad Geela isinthe

Chapter of Mahabharaia.
(A) Sixteenth (B) Seventeetn

(C) Eighteenth (D) Nineteenth

Supreme Court of India in its recent
historical judgement on Aadhaar Card
Vs Privacy threat, it has been held that
linking Aadhaar Card mandatory, except
1. School admissions
2 For PAHAL Yojana
3. NEET, JEE, UGC and CBSE exams

4, Corporate authentication

Select the right answer from given below

(A) 1and3only

AI2018 (4
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i 1 '

3, af% 9w 31 qor 1 :
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RAT ST W A B B e v b -
() 12 ®) 21 "
(Cy 30 ©) = R =k 2
8. .o 4l s 3Vt et %)
(A) ALO, (B) Cud
(C) Fe0, By CrO,

9. TERI HERIE % W A A=tates waa vl |
| mrhze e B
T SrAEd A0 VA 2 B

i,

Tl Bl
Frefafay & 3 7 %2 I

(A) Fae (1)

(8) A (i)

©) (i) S (i) 2 = R
(D) Faa 1 | e T

10, HENREE % _ e R a8l
(A) 164 @) 173
) 183 (D) 194
11, e @ 1 gares e A SR FE T
e 1 AT W o i e 1, T
e 2 ) ST TS WSl SAET 8, A
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0. TE AWl o Y,

3. NEET, JEE. UGC ¥t CBSE et
4. wrane FHTeiERl

Fon s o & ) ST

(A) e 1 33

(B) #4943

(C) 1,233

(D) 1,3 4

(B) Sonly
(C) 1,2and3
(D) 1,3and4
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18.

20.

21.

22,

23. 'Which of the following is not an example

00O A BRI T

Global Investors’ Summit took place on

(A) 26" January 2011

(B) 12" Decamber 2014

(C)y 8" March 2016

(D) 10% April 2017

Which of the following form an AP ?
(A, 1:°1,:2,12,:3,.9; ..

(8) 0.3,0.33, 0338, ..

= 1 1

ol A 7 R

ID) \""5, \vrv.‘:.é.

in the

Find the missing number (7)
followihg sequence.
2.5,10,17, 2, 37

(A) 20 (B) 26
(C) 25 (D) 16

A ladder 17 m long, reaches & window of
a building 15 m above the ground. Whatis
the distance of the foot of the ladder from
the wall ?
(A) Bcm

(C) 2cm

Bom
4cm

(B)
(O)

Manganese is found Inthe ___ ==

district of Haryana.
(A) Hissar

(B) Mahendragarh
(C) Karnal

(D) Gurgaon

for macro-economic constituents ?
(A) Making of Budget
(B) Regulation of Monetary Policy

(C) Policy for bringing change In
Balance of Payment (BOP)

18, f

19‘

(D) None of the above

23.
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1 If the d,g!(“‘fj'.‘ h(”\\'l_’(,‘/‘. fhl} |

20intg A(1,1)
YOS of x are

and B(x, 1) i8 5 units, then ya)
(A) 4
(C)

) (B) -4,6
.3 O 1,~9

n

2. A man when asked, how many hens and
buffaloes he has, told that his animals haye
120 eyes and 180 legs. How many hens he

has ?
(A) 15 (8) &0
©) 30 (D) None of these

3. The solution of system of equations
X+y=a-bandax—-by=a2+b2arp
(A) x=a,y=0b (B) x=a,y=-p
(C) x==—a,y=b D) x=-a,y==p

4. Haryana government Iaunched

scheme for senior citizens

.'Eéggung'{o Below Poverty Line (BPL)

families.

(A). Bhagya Jyothi

(8) Anna Bhagya

(C) Beti Padhao

(D) Tirtha Darshana

~ 8. Thesectionof Himalayas, Specially attracteg
10 the British colonial administration, and

Ssubsequently, some of the Important hill
stations such as Dharamsha}a.
Shimia, Kausani and

the ca :
/ lowns and health resons sich ans' os%ne,nt
S Mussoor}e. Kasaulj, Almora Lansdom 5
(o and Ranikhet eIC. were deve'lo d wq
9 'r_?g:on. Ped in thig
S8 ere. The re ion
23 (A) Trang l?ﬂm re;zrred 2
3 (8) Lesser Himalaya
(€ Shiwalik ranq,
£ ©) Gregpe Himalay,
) 6‘ ' )
3 &‘;Wa S the fir tstat
¥ 8 Quifer ma lete
3 8) p o0 i
o5 Alce Staj
P (C) Bha{ata
£53 0 athng
i, Q ) P ACMashre,
s s "% Avarg

lllEiHlSlSlflllllIm"
1. af iz Agr1) i B(x, 1) % oy e
¥, A1 x 7 o ¥t
(A) 4,0 (B) -4,8
(C) 2.3 @) 1,-9

»

U SRt B o T 3 Tm fb.*
m;~e:gﬁ%aqa,ﬁ13zr:vmﬁzm

#1120 33ted - ik b
Eﬁﬁﬁ?fm s 180%?:%%%

(A) 15

(B} 80
(C) 30

©) w35y
x+}'=a-bfﬂ§f{ax—by=ai‘+b:
(A) X:a_y: b

(B) X=ajyacy
(C) X==a,y=h (D) X==aived
}'fmwnmivﬂaﬁ@%

> ¥ (BPY
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(A) ¥Ta w3ify ‘
(B) 3751 vy

(C) 2 gerai

(D) e zuty

W fRv = 3 e, g, e
HHA R BT T o wm I Y
ﬂWH,T, r.mv a.m' m m
el weffa & @

44
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Read the 1ol
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o Itis spr:
ll. its area
larger it
Select tha rig
(A) (i) only
(8) (i) only
(C) Both ()
(D) None o

Bhagavad (
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(A) ' Sixtee

(C) Eighte
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historical
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khal fako I8 ocated In

o El: Faridabad (B8) Thanesghwar
i) Kamal (D) Hathnl
‘ "
1 If4i8 820 10 of D9Wn0m lal
& p(x) = —2x% 4 3x+ 5K then value of k is
(A) 4 (B) -5
' / D) =1
(©) ,5/‘; (0)

____traveller.
(B) Roman

52. Hiuen Tsangisa
(A) English

(C) Chinese (D) Portuguese
Ly i ________is essential for the

synthesis of thyroxin.

(A) Potassium (B) Sodium

(C) Calcium (D) lodine

§4. Sahibl river is also called as
(A) Drishadwati (B) Kumudwati

(C) Cauveri (D) Jagadadri

55. Incomputers ‘CMOS’ stands for

(A) Computer monitoring operating
system

(B) - Complementary Metal Oxide
Semiconductor

(C) Complementary Metal Operating
Semiconductor

(D) Commonly maintaining Operating
System

56.  Which of the following movements is known

as Leaderless Movement/Protest ?
(A) Simon Go Back Protest
(B) Individual Sathyagraha
(C) ' Quit India Movement |
(D) - Swadeshi Movement . p Y’
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44. Which of the following cells have
haemoglobin in it 7
(A) White Blood Cells
(B) Red Blood Cells
(C) Platelets
(D) None of the above
45, Fisheshave _ _number of chambers
in their heart.
(A) Many (B) 4
(C) 2 (D) 3
46. The crops.which are sown at the
commencement of rains in June and
harvested by November month,are
called as
(A) Baisakhi (B) Bii
(C) Kharif (D) Summer
47. Consider the following statements with

reference to the evolution of political party

system in India and choose the incorrect

option.

(A) The fourth union general election
ied to the beginning of the politics of
coalition.

(B) During 1960s, the emergence of the

new political classes was directly

related to the rise of the proprietary
peasant class in rural India in the
backdrop of the land reforms.

The politics of alllance has led to the

polarisation of parties.

At present coalition or alllance form of

parties have narrowed the process

of elections and competitive political

space.
48. Find the word which is different from the
other 3 options given below.
(A) Tiger (B) Lion
(C) Cat (D) Zebra
Age of a father is 3 times that of his son.

Syears later, he will be two and half times as
old as his son. How old is his son now ?

(A) 15 years (B) 10 years
(C) 12% years (D) None of these

(D)
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English Language

005 the corract ontions

[;H"“

ghe reminded _ the papers,
(A) where | had to leave

(8) me whare wlll | leave

(C) where lo leave

(D) me where | had to leave

89

-0, |am not tired enough to go to bed yet.
| wouldn't sleep |f | ___to bed now

(A) had gone

(B) gone

(C) would have gone

(D) went
gill in the blanks with appropriate articles if
necessary .

71. ldon'twatch television very

74,
2018 (1) 1 1)

: Criciey
JOtbal and basketbay
(A) Excopt 1o

(8) Besidag
(C) Besids
(D) Except

: %'f"l wWaltrang

Choose the corredt form of the veros -
76, | televisionalotbutl domt any
more,
(A) used to watch
(B) was watching
(C) watched
(D) was used 1o watch

76. ~_____alongtime for the DUs.

(A) We must to wait
(B) Always we have 10 wait

often.

(A) a

(B) the

(C) not needed
(

D) an
~_best player in your

72. Who's
team 7

(A) the

(B) an

(C) not needed
(D) a

Eill in the blanks with ap

ves in Perth. She owns @ house
the Swan River.

73. Sheli

e ——

(A) at
(B) on
(C) ~over
(D) in

e 10 Loy

propriate prepositions :

(C) We have to wail always
(D) We always have 10 wail

Select the appropriate synonyms of the
underlined words *

77. The Adicle exculpated the mayor.
(A) steal

(B) pity

(C) acquit

(D) destroy

of free gas for a year.
(A) wary

(B) mistead

(C) belitle

(D) strang®

13-

(L RTOS S 2L

78. The carsalesman tried to beguiled an ofter
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Ao v 4 K S o
IN14Xx* + 13x = 15 is divided Dy 7X =4, then
remainder is
(A) 3 (B) =3
l( ; 0 { D I'".lf)')(:' Ol these
59, Sepoy mutiny took place in

(A) 1947 (B) 1957
(C) 1837 (D) 1857

60.

30, 4€), 512 and 652 are

.
ine

Five resistors 212,
o0 2o series 1o 8V hattery
connected In series 0. oV: Datigry

current through 541 resistor is

(A) 333A (B) 0.3A
(C) 12A (D) 120 A

61. 119% of September was Sunday, when does

18" September fall ?

(A) Monday (B) Sunday
(C) Tuesday (D) Wednesday

62 ! ~______Isthe head of Gram
Panchayath.
(A) Chief Minister

(C) Sarpanch

(B) Commissioner
(D) Labour Officer

63. Haryanasends ____ members to
Rajya Sabha, the upper house of the
Parliament.

(A) 2
(C) 4

(B) 3
(D) &
If the perimeter of a semicircular

protractor is 108 cm, then the diameter of
the protractor is

(A) 54 cm

64.

(B) 42cm

3= ., (C) 24cm (D) 108 cm
T'_P’V\.y".;."s ‘~:¢ X \g}'ﬂ\fﬂ—\nﬁ ~11-

60.

61,

62.

63.
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